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There are EIGHT questions in all

Answer ONE question from Section A,
ANY TWO questions from Section B,

AND

ANY TWO questions from Section C
Calculators must not be used to store text and/or formulae nor be capable of communication. 

Invigilators may require calculators to be reset
Section A – this question is compulsory

Question 1

Using the following information, prepare an income statement for the year ended 31 December 2006 and a balance sheet as at that date for TUV plc, a manufacturing company.
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Trial Balance as at 31 December 2006

£000

£000

Sales

1,000

      

 

Machinery - cost

838

         

 

Machinery - depreciation

230

         

 

Warehouse - cost

930

         

 

Warehouse - depreciation

176

         

 

Disposal

10

           

 

Inventory at 1 January 2006

20

           

 

Purchases of materials

250

         

 

Repairs to machinery

27

           

 

Manufacturing wages

109

         

 

Directors' salaries

35

           

 

Clerical staff salaries

18

           

 

Office heating and lighting

9

             

 

Sales commission

98

           

 

Bad debts

50

           

 

Provision for bad debts

1

             

 

Loan interest

20

           

 

Trade receivables

84

           

 

Bank

105

         

 

Trade payables

26

           

 

10% Debenture loans

400

         

 

Dividend paid

30

           

 

Share capital

560

         

 

Accumulated profits

220

         

 

2,623

      

 

2,623

      

 


1)
Inventory was counted on 31 December 2006 and valued at £25,000.

2)
The company's auditors have discovered that the acquisition of a piece of machinery costing £12,000 has been posted incorrectly to the repairs account. No adjustment has been made in respect of this error.

3)
The balance on the disposals account represents the proceeds of the disposal of a piece of machinery which had originally cost £30,000 and which had been depreciated by £13,000. No other entries have been made in respect of this transaction.

4)
Depreciation has still to be charged as follows:

· Machinery - 10% straight line

· Warehouse - 2% straight line

5)
The following expenses have been incurred but not recorded:

· Manufacturing wages
£1,000

· Clerical salaries
£2,000

· Office heating
£4,000

The balance of the debenture interest for the year is now due.

6)
The provision for bad debts has to be increased to £4,000.

(40 marks)
Section B – answer any TWO questions

Question 2
(i) From the following information calculate the net cash flow from operating activities

	
	31 December 2005
	31 December 2006

	
	£
	£

	Debtors
	4,867
	2,985

	Stocks
	18,791
	21,360

	Creditors
	1,590
	1,138


Net profit for the year was £73,450. Depreciation on fixed assets for the year was £6,310. In addition, a motor vehicle which had a book value of £2,450 was sold for £4,800.

(10 marks)

(ii) Explain the purpose of a cash flow statement.
(5 marks)

(Total 15 marks)
Question 3
At the end of the year the following information is available on two firms: A small souvenir shop and a local mini supermarket.

	
	Supermarket
	Souvenir shop

	
	£
	£

	Turnover
	65,000
	18,000

	Gross profit
	24,000
	9,500

	Opening stock
	1,200
	1,600

	Closing stock
	1,800
	2000

	Expenses
	20,000
	7,500

	Net profit
	4,000
	4,000


(i)
Calculate the following ratios for each of the firms:

(a) Gross profit margin

(b) Net profit margin

(c) Stock turnover

(10 marks)

(ii)
Explain why the two firms’ results might not be directly comparable.
(5 marks)

(Total 15 marks)
Question 4
Identify THREE users of accounting information and explain the nature of their information needs.

(15 marks)
Question 5
Describe TWO of the ways in which a bookkeeping system can be organised so as to minimise the risk of fraud or error.
(15 marks)
Section C – answer any TWO questions

Question 6

Explain the role of management accountants within organisations.

(15 marks)
Question 7

Explain what is meant by “contribution” and explain how a knowledge of cost behaviour can help in business planning.

(15 marks)
Question 8

Explain how budgetary control might influence the motivation of employees within organisations.

(15 marks)
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